
Lopi Medium Flush Wood Insert Arched (2019-2020) Parts List 

AIR CNTRL, EXTN ROD – UNIV - 4" X 3/8" FWI & FWP 250-02335 

AIR CONTROL, SLIDER - FWIM - FLUSH WD INS MED. 250-05022 

AIRTUBE KIT, L-30 FWIM - FLUSH WD INS MEDIUM 98900249 

AIRTUBE PINS & SCREWS - 4 PK - VARIOUS AIRTUBE KITS 250-02186 

ASH GUARD - FWP - FWP ARCH/REC & FW CAPE COD 250-02782 

BAFFLE INSULATION - MED. FLUSH WOOD INS. 250-04891 

BAFFLE, REAR - MFW - 12GA. 304SS 250-04890 

BLOWER ASS'Y, LEFT - FW/FWP/LFW INSERTS 228-10069 

BLOWER ASS'Y, RIGHT - FW/FWP/LFW INSERTS 228-10070 

BRICK RETAINER SET - FWIM - L/R SIDES & REAR 250-05021 

BRICK-CUT w/ HOLE 9x4-1/2x6 - GRNST IGN BRICK, INSERT 251-00072 

BRICK-CUT, 9 x 2-7/8"  251-00068 

BRICK-CUT, 9 x 4 251-00003 

BRICK-CUT, 9 x 4-1/2 x 2-11/32 - ANGLE CUT BRICK 251-00067 

BRICK-CUT,8-1/2 x 3-1/4 x2-1/4 - ANGLE CUT BRICK 251-00066 

BRICK-WHOLE,9 x 4-1/2 x 1-1/4 - STANDARD FIREBRICK 251-00000 

BRUSH, BENT HANDLE - COMBUSTOR/FIREBOX BROOM 250-03046 

CATALYTIC COMBUSTOR, HYBRID - LFW - 20-3/4 X 3-1/8" 250-02489 

CHIMNEY BRACKET (3) - w/ SCREWS 250-05029 

DAMPER SLIDER, LFW - LFW INSERT 15-1/2" x 3-1/4" 250-02492 

DAMPER YOKE ASS'Y - UNIVERSAL 250-02493 

DOOR HANDLE ASSY, LFW-FWP v.2 - SR# SENSITIVE 250-03967 

DOOR S-ASS'Y, ARCH-FLSH WD PLS - SINGLE ARCHED DOOR 250-02293 

FASTENER - HEX NUT 5-PK - 1/4-20 - CENTER-LOCK 250-01088 

FASTENER - HEX NUT 8-32 - 25PK - CENTER-LOCK - 8-32 250-04734 

FASTENER - KEPS NUT, 10 PK - 8-32 250-01292 

FASTENER - SCW 25 PK - HWSHMS,10-24x1/2 BLK - TYPE F 250-02925 

FASTENER - SCW BLK 6 PK - WD DR HNDL, 1-1/4"x1/4-20 250-00426 



Lopi Medium Flush Wood Insert Arched (2019-2020) Parts List 

FASTENER - SCWS 8-PK GLS CLIP - 8-32 x 3/8" PH TORX TYPE F 225-20039 

FASTENER, SCW - AIRTUBE PIN, 25-PK - HWH SWAG, 1/4-20x1/2" SS 250-05117 

GLASS CLIP SET, ARCH(FWP) - FULL SET,TOP/BTM CLIPS w/GSKT 250-02193 

GLASS w/GASKET - FWP ARCH - 5mm NEOCERAM - 23.000 x 10.750 250-02195 

GRMT/SPACER (4) – BLOWER - 1997+ PEL/1995+ GAS 93005017 

GSKT 50", COMBUSTOR, INTERRAM - (1) - 50" LENGTH 250-02643 

GSKT, AIR CNTRL COVER - FWIM - 8" x 2" 250-05023 

GSKT, DOOR 80" BLK FLUSH WD - ROPE - 3/8" dia.(FW/ FWP/LFW) 99900429 

GSKT, GLASS - 1/4"dia. - BLK - BULK 50 ft. 250-02982 

GSKT, GLASS, 75" - FWP/LFW - GSKT ROPE, 1/4" dia, BLACK 250-02184 

GSKT, IGNITER - GREENSTART IGN, INSERT 250-02519 

GSKT, ROPE [50ft] 3/8" dia. BLACK - BULK - 50' 250-02380 

HANDLE (WOOD) BLK, DOOR - PAINTED w/ BLK SCREW 250-01305 

HINGE KIT, DOOR - FWP/LFW - TOP/BOTTOM w/ fasteners 250-02923 

IGNITER, GRNSTART - FS/INS - WD STOVE/INSERT IGNITER 250-02710 

KNOB (WOOD) w/ SCREW - A/C - ASH/ALDER 250-00367 

LEVELING BOLT COVER, WD INSERT - VARIOUS INSERTS - 2-PK 250-03436 

MANUAL, FLUSH WOOD HYBRID MED - 2019 250-05030 

MOISTURE METER - FIREWOOD MOISTURE 250-02635 

PAINT, METALLIC BLACK 3oz CAN - LIMITED TO STOCK ON HAND 250-00347 

POWER CORD, w/MOLEX (18 GA) - UNIVERSAL - WOOD & GAS 250-00316 

PUSH PLUG, 1/4" dia, BLK - FWI/FXFRE 250-00387 

PUSH-PLUG, 7/8" DIA. 250-05024 

SNAP-DISC - 120deg NO - WOODSTOVE & INSERT 250-00311 

SNAP-DISC/BRKT ASSY – FW - BLWR - FW/FWP/LFW 228-30050 

STOVE PACK, FLUSH WD MED 2019 - FWI MED HYBRID 250-05028 

TEMP METER – HANDHELD - DIGITAL READER ONLY 250-03586 

TEMP METER STAND - FOR HANDHELD READER 250-03728 



Lopi Medium Flush Wood Insert Arched (2019-2020) Parts List 

TEMP PROBE, FOR DIGITAL METER - ALL MDLS EXPECT APEX 42 250-05025 

TOOL (PULL), LPI w/SPRNG HNDL - BYPASS PULL TOOL 98900361 

WIRE HRNS, BLOWER, FWI - FLUSH WOOD INS 250-00938 

WIRE HRNS, GROUND - 8.25" - UNIVERSAL 250-03677 

FACE, FL WD MED WILM BLACK* 95600193 

FLUE ADAPTER, WD ADJ OFFSET*  96200355 

IGNITER, GREENSTART 2 WD INS*  94400952 

METER, MOISTURE WOOD 4PK* 94400018 

PANEL, FL WD MD 1PC 30.5x42* 96100212 

PANEL, FL WD MD 1PC 34x44*  96100215 

TRIM, ONE PC PANEL, 30.5 X 42* - FL WD M, DVL, 616, RAD LG, ANS 96500893 

TRIM, ONE PC PANEL, 34 X 44* - DVL, 616, RAD LG, FL WD M 96500894 

VENT, WD MASONRY LINER KIT 15* - 810001927 98900040 

VENT, WD MASONRYLINER KIT 35* - 810001931 98900042 

VENT, WOOD ZC LINER KIT 35* - 810007152 98900048 

WIRING KIT, INSERTS HI TEMP* - WOOD INSERTS 97200337 

 


